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Question No. 1
When the relative motion between two elements is completely or successfully constrained, then these two
elements form a-

A)Kinematic pair B)Machine

C)Kinematic chain D)Mechanism

S & dcdl & @ Fr ander Afd Qoiaar a1 gedarqas AT g S g, 3 aet doa T &
Sl

A)Frsadfes goa B)AM=T

C)arsadfes Jaer D)H&fesH

Answer Key : A Your Response : C (Wrong)

Question No. 2
An electrical resistance strain gauge has a resistance of 200 Q and a gauge factor of 2.5. What is the change
in the resistance of the gauge when it is subject to a strain of 0.0015?
A)0.6 Q B)0.5Q
C)0.75Q D)0.9 Q

e faggd 9oy R Aar 7 200 Q F 9ok AR 2.5 F AT Hae Gar g1 AT F w7 frder aRader
8T &, 59 Ig 0.0015 & TeT § Hafd giar 82

A)0.6 Q B)0.5 Q
C)0.75 Q D)0.9 Q
Answer Key : C Your Response : D (Wrong)

Question No. 3
In simple rigid objects with uniform density, the centre of mass always coincides with the-
A)Base B)Centroid
C)Corner D)Apex

AT Geled dTell T FHOR a&AT H, GeFAGT I e AAT fhdh Ay AT @relr §?

A) 3T B)dhegeh
C)aleT D)efry
Answer Key : B Your Response : B (Correct)

Question No. 4
A heated black surface is at a temperature of 2000 K. The wavelength corresponding to maximum emitted
radiation intensity would be- (where Wien's constant = 2.9 mm K)
A)1450 nm B)290 nm
C)2900 nm D)145 nm
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TS I FHlell HAg H AGAE 2000 K g1 HRwdw scafoia Rfor dear & aeqes aler 3 = gar wifyw?
(T &7 R = 2.9 fA# K)

A)1450 nm B)290 nm
C)2900 nm D)145 nm
Answer Key : A Your Response : D (Wrong)

Question No. 5
Normalizing of steel undergoes which of the following?
A)Grain growth stage B)AII of the options
C)Recovery stage D)Recrystallization stage

T FT FHRIRUT e § ¥ Faw aar 32

A)FUTT & fasra &1 axoT B)fasedl & & @l
C)g=viTe =RoT D)geT: foheeelientor =roT
Answer Key : B Your Response : B (Correct)

Question No. 6
Which of the following Reynolds number values indicates a turbulent flow?
A)1200 B)1900
C)4200 D)1500

fFfaf@a # & i a1 Hicga T A fggsy yaw 1 $RPa aar §2

A)1200 B)1900
C)4200 D)1500
Answer Key : C Your Response : C (Correct)

Question No. 7
Maximum metal limit (MML) corresponds to the-
A)Lower limit of a hole and higher limit of the shaft B)Lower limit of a hole and lower limit of the shaft
C)Higher limit of a hole and higher limit of the shaft D)Higher limit of a hole and lower limit of the shaft

3fOFaa urg WA (MML) ¥ ST gl Bl

A)de i Fmel @A 3R e f 3= @A B)8c I fazel dar 3R e fr fA=rel dar
C)dc & 3Ta H1AT AR eMFe &I 3T AT D)3 1 3Ta d#AT 3R e Fr fawel AT
Answer Key : A Your Response : A (Correct)

Question No. 8
A body of mass m moving with a constant velocity v hits another body of the same mass moving with the
same velocity but in the opposite direction and sticks to it. After this collision, the composite system will move
with a velocity equal to-
A)Zero B)v
C)2v D)v/2

SSTAT m & U U3 U f@d 397 v & AT I @T &, 3 GTAT &1 U 3R [N A 91 & 9T Afhad

dia fer F ge wr ¢ 3R 3O Ry I 8 59 cFR & 915, Fioe [eed F RN AT F
3T Feem|
AT B)v

C)2v D)v/2
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Answer Key : A Your Response : A (Correct)

Question No. 9
Which of the following gear drives are typically used to connect shafts intersecting at 90°?
A)Bevel gears B)Double helical gears
C)Spur gears D)Herringbone gears

ffaf@a & & sl ¥ PR 3T &1 39T 3HGR W 90° W 9fawde o gl ATFE FF Sisa & foaw f&ear

ST §7

A)sad ad B)zsdl gfcrerar ey

CyTR fraa D)eRereia gt

Answer Key : A Your Response : A (Correct)

Question No. 10
Low penetration in MIG welding can be rectified by-
A)lIncreasing welding current B)Decreasing the deposition rate
C)Decreasing welding current D)Increasing travel speed

MIG afeser & #7 Ufagee & fFas garT St farar ST |ar 872

A)afeseT HIT &l 9eT FX B)fe&1qur &I &l &eT &Y
C)afessT e &l gl D)t T I1fa &l FeT AT
Answer Key : A Your Response : D (Wrong)

Question No. 11

) xy—2x
Evaluate: lim il
x—1 - ?
IV —2)
A) B)
1/2 a0
C) D)
0 1
* .. xy—2x
HeaTsha L lim i
x—1 P — ]
LY 2y
A) B)

1/2

8
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C) D)

Answer Key : D Your Response : D (Correct)

Question No. 12
A ball is dropped from a height of 9 m on a floor and rebounds to a height of 4 m after striking the surface.
The coefficient of restitution between the ball and the surface is-
A)0.667 B)0.895
C)0.745 D)0.444

& 3G F BF W 9 HeX i Fas ¥ ORI Jar § 3R G098 W e & 916 4 e fr Fas 9% gfaaid

g sar ¥ g 3R FaE F T TR # IonE gl

A)0.667 B)0.895

C)0.745 D)0.444

Answer Key : A Your Response : D (Wrong)

Question No. 13

In gear hobbing-

A)Neither the hob nor the gear blank rotates B)Only the hob rotates

C)Both the hob and gear blank rotate D)Only the gear blank rotates
R gifser -

A) dr gid 3R a1 & FRR sdfe gaar Bl B)&der gld & gHT Bl

C)gla 3R R =of& gt god €l D)&aer R soleh & g Bl
Answer Key : C Your Response : C (Correct)

Question No. 14
Which of the following is an optical instrument that measures surface roughness?
A)Telescopic gauge B)Profilograph
C)Clinometer D)Combination square set

et & @ v 3ifSewer 3umOT FT AT B, S HAT F GeAIA H AT 87

A)CeliEnITaeh st B) ARSI
C)Farat#ex D)¥arSTsT a1 ¥T
Answer Key : B Your Response : C (Wrong)

Question No. 15
If z =3 + 2i and z; = 1 + 4i, then find z4z,.
A)-2 + 11i B)8 + 9i
C)5+7i D)-5 + 14i

211?\'21=3+2i3m22=1+4i,?ﬂ'Z1szml
A)-2 + 11i B)8 + 9i
C)5 + 7i D)-5 + 14i

Answer Key : D Your Response : D (Correct)
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Question No. 16
Wire-winding over thin cylinders leads to compression on the cylinder and-

A)Gradual increase of hoop stress B)Sudden extreme increase in hoop stress
C)No change in hoop stress D)Reduction of hoop stress

Ude Selell % FW JRR-IIERET ¥ SoT W&o IS B-

A)gT gfdeer €R-4R e &l B)gW Yfdsel # 3rameish 3rcdfesh ghg gl B
C)gy vfciael # &I Feara =76l gl ¢ D)gy wfdise & g &
Answer Key : D Your Response : C (Wrong)

Question No. 17
The melting point of zinc is approximately-

A)980 °C B)720 °C

C)420 °C D)650 °C

fSich T Telelich 9Tt el e &2

A)980 °C B)720 °C

C)420 °C D)650 °C

Answer Key : C Your Response : A (Wrong)

Question No. 18
X-rays are used to study crystal structures of matter because-
A)The wavelength of X-rays is similar to the distance B)They are a cost-effective electromagnetic radiation
between the atoms in a crystal
C)They are easily produced D)They can see through objects

XX T 39T 9erd fr fFeed T3 F1 3HeTqIT F & A fFar sar § :ife-
A)XX FT oler 3 U fobeed # WART & & f1 B)d T olela GHET faqgd graeha fafsor g g

&l & AT I Bl
C)a ATl ¥ 3¢ & od &l D)d a¥q3il & ATEIH § & S T &
Answer Key : A Your Response : D (Wrong)

Question No. 19
Find the solution obtained at the end of the first iteration by the Newton-Raphson method for the equation f(x)
= x3 — 4x2 + 5 by taking the initial guess as xg = 3.
A)4.3333 B)3.3018
C)1.7777 D)2.7875

URIAF AT xo = 3 AFT FAOT f(x) = x3 - 4x% + 5 F AT ~yeatwwar Ay @Err vy grghea & 3T
# GIod AT HT AT

A)4.3333 B)3.3018
C)1.7777 D)2.7875
Answer Key : A Your Response : A (Correct)

Question No. 20
An event is indicated on the network by a/an-
A)Arrow B)Dotted line
C)Circle D)Straight line
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Aedd W TH °SaT & Th EarT 3T frar et §1

A)dR B)feigged Y@r

C)ged D)efeft Y

Answer Key : C Your Response : A (Wrong)

Question No. 21
Compared to optical profilometers, contact profilometers-
A)Are dependent on surface optical characteristics B)Do not create scratches in soft material
C)Are less sensitive to dirt and oil D)Are costly

3ifCerer Mftheiaier & gorem &, duh NfpedeR-

A)Tdg 3iTtead fadwant w [k 8a g1 B)HemIH WA H W G ST g
Cyviealt 3R o & 9fa o7 ddeae g & D)@ifer 81 &1
Answer Key : C Your Response : A (Wrong)

Question No. 22
Which of the following layouts is best suited for the ship vessel industry?
A)Plant layout B)Fixed position layout
C)Process layout D)Product layout

frfaf@a & @ =i ar Q33 SEre 9 3@ & T ae@ sugEd 87

A)TIT AT3C B)fafeaa Rufa o3mse
C)ufshar or3m3e D)3cUie wI33T
Answer Key : B Your Response : B (Correct)

Question No. 23
The Carnot efficiency of a heat engine cycle between the given temperatures of the source and sink depends
ONLY on the-
A)Nature of working fluid as well as Material of B)Temperatures of the source and sink
construction of the heat engine
C)Material of construction of the heat engine D)Nature of working fluid

AT 3R AF F RU v IIART & G v FAT Sold T HY FEl S&Tar Fad 9T AR T 1
A)FH F I Rl G H vpfd & @y-ary FsAT B)EId iR s & doaAs

gofeT & fa#TOT Y areal
C)FsAT St & fAATOT Fr Freralr D)&H # ¢ el Tard #iT gepfar

Answer Key : B Your Response : B (Correct)

Question No. 24
Which of the following is a modified form of the Halsey plan?
A)High-standard hour system B)Rowan plan
C)Emerson plan D)Gantt task system

ffof@a & & Fia-ar eed Qe &1 @ART & 82

A)3TT Alds G Tlolel B)IasT ITSTalm
C)uHAA ITST=TT D)dfec e Arster
Answer Key : B Your Response : C (Wrong)

uestion No. 25
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Alan is used to measure the temperature of molten metal.
A)Voltmeter B)Ammeter
C)Pyrometer D)Dynamometer

ﬁaﬁgumg*maﬂmﬁ%ﬁmﬁmﬁ#mmmm%?

A)arecHIeX B) 31X
C)ursrHTex D)= AT
Answer Key : C Your Response : C (Correct)

Question No. 26
Solve the equations x +y +z =1, 3x +y - 3z =5 and x - 2y - 5z = 10 using the Gauss elimination method.
A)x=6,y=-7Tandz=2 B)x=4,y=-9andz=3
C)x=2,y=-5andz=6 D)x=7,y=-9and z=4

ot Reige A &7 37T b @feot x + y+z=1,3x +y-32=5 3R x -2y - 52 = 10 # g

Ll

Ax=6y=-73R2z= B)x=4,y=-93Rz=3

Cx=2y=-53Rkz= Dx=7,y=-93Rz=4

Answer Key : A Your Response : A (Correct)
Question No. 27

Which of the following absorbs energy in the form of heat?

A)Source B)Sink

C)Adiabatic D)Insulator

ffaf@d # ¥ Sl AT F § & FoT HT HIAMGOT T §7?

A)ara B) &

C)feeRisH D)FSAT Irefr

Answer Key : B Your Response : D (Wrong)

Question No. 28
Relating measurement results to national or international standards through an unbroken chain of calibrations

is known as-
A)Repeatability B)Sensitivity
C)Standard D)Traceability

3RAFT A TF IES H@eml F ALYA § AY GROMA F TET AT HAASET AR § FERAT FEA
F ® FH T AT ¢l

A) FoRTaA I T B)ddgsTeiterar
C)HTA% D)gdT of3llel T &THAT
Answer Key : D Your Response : A (Wrong)

Question No. 29

In milling, the saddle consists of two slideways, one on the top and one at the bottom located at to
each other.
A)30° B)90°

C)75° D)60°
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AT &, s AT FmEsa g § F M RIR F A, F @ & R BUd @ Bl
A)30° B)90°

C)75° D)60°

Answer Key : B Your Response : D (Wrong)

Question No. 30
A body is vibrating with a simple harmonic motion of amplitude of 100 mm, and a frequency of 2
vibrations/sec. Calculate the maximum velocity (Vmax) of the body.
A)2.257 m/s B)1.557 m/s
C)3.257 m/s D)1.257 m/s

e 3 100 Bl & I3m F W IEd a1fa 3R 2 FoaREs fr Imgicd F T FT W @1 e W F
R AH I (Vimay) P I0ET HI

A)2.257 HE B)1.557 #/&
C)3.257 #i/& D)1.257 #Hia
Answer Key : D Your Response : D (Correct)

Question No. 31
Which of the following is aimed at inventory control?
A)Job evaluation B)Method study
C)ABC analysis D)Time study

ffaf@d # & Fi @1 avg g HEA0T & 30T ¥ 772

AT Heehat B)fafer srearer
C)ABC fageryor D)EAT T HETTT
Answer Key : C Your Response : C (Correct)

Question No. 32
Which of the following automobile frames is also specifically known as a non-load carrying frame?
A)Non traditional frame B)None of the options
C)Conventional frame D)Non conventional frame

FfefRa & & Fi9 a1 TTafad FF RAY 7 § tF R-9R ag9 o arF A F & 7 o ST SA1ar &2

A)aTT f3erer e B)fdshedl # & HIS oTar
C)&edeglelal A D)aiteT shede2ledel el
Answer Key : C Your Response : B (Wrong)

Question No. 33

The guarded hot plate method determines the thermal conductivity of a material by using the of a
hot plate with guided heat conduction.

A)Electrical power output B)Temperature

C)Steam output D)Work output

s gie toe A, MESs fic FSRET F AY glc e F T 3T FF TS H AT Arerchar
feifa #h &

A)fdegd dreR 3M3eqe B) AT

C)FEH 3m3eqe D)#& 3m3eqe

Answer Key : A Your Response : B (Wrong)
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Question No. 34
In the time study, the value of 'standard rating' is-
A)1000 B)12
C)100 D)5

FIeT YT H 'Teugs W &1 AT Fr 872

A)1000 B)12
C)100 D)5
Answer Key : C Your Response : C (Correct)

Question No. 35
is the ratio of the inertia force to the gravitational force.
A)Mach number B)Weber number

C)Froude number D)Reynold's number
T5cd §f IR IocaATHYOT qel HT A1 B
A)AT F&T B)deR TEAT
C)wis T&ar D)¥ATesd T&AT
Answer Key : C Your Response : C (Correct)

Question No. 36
The coordination number of a simple cubic space lattice is-
A)Twenty B)Eighteen
C)Six D)Twelve

T RO 9T Rf3H e T 3qugadiel §&ar 41 gidr 82

A)drg B)31oRe
C)se D)aRg
Answer Key : C Your Response : D (Wrong)

Question No. 37
In the ISO turning insert nomenclature, the first alpha-numeral indicates-
A)Clearance B)Tolerance
C)Type D)Shape

ISO effar svuE AAAFITIX &, Ugell 3&R-3i FAT e &7

INIGEat:i B)&fesuyar
C)THR D)3
Answer Key : D Your Response : A (Wrong)

Question No. 38
On which condition does the vacuum advance mechanism shift the ignition point?
A)Under part-load operation B)lt is unrelated to the load conditions
C)At both part-load and full-load operation D)Under full-load operation

3 vsaiw AFfAeH fFa Rufa 7 s dise t Rive war 872
A)TTE-ATE IR & dgd B)¥E oz & feufd & sraefaa &
C)uré-eits 3R Por-eils aledl HIRA & ol D)per-eis 3R & el
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Answer Key : A Your Response : B (Wrong)

Question No. 39
For a thin cylinder, in a longitudinal joint stress is developed, and in a circumferential joint
stress is developed.

A)Longitudinal, circumferential B)Circumferential, circumferential

C)Longitudinal, longitudinal D)Circumferential, longitudinal

T G Ao & U, e St o Sfeer REfa gar ¥, 3R aReha s e
fawfie g Bl

) I, aRed B)IRef, aRehar

C)3eqeed, 3eeea D)aRe, 3T

Answer Key : D Your Response : A (Wrong)

Question No. 40
Find the tool life equation, if a tool life of 80 min is obtained at a cutting speed of 30 m/min and of 8 min at a
speed of 60 m/min.
AVTO® =C B)VT%" =C
C\VTo4=C DWVTO3=C

Ifg Ry MR #r Shaasa 30 AeUPae F Fea & a1fd W 80 Awe #r 3R 60 HA/MAae $ir afg w 8
e T 9o @Y &, Y 3UFOT & Sl T FHIHOT AT HiAT]

A)VTOS = C B)VT%/ = C

C)VT04 = C DVTO3 = C

Answer Key : D Your Response : A (Wrong)
Question No. 41

White cast iron has a white fracture colour due to the presence of-

A)Nodular shaped graphite B)Cementite

C)Graphite flakes D)Spherical shaped graphite

e el ol foraent 3ufafa & #RoT Jihe fasier (har) 1 & &ar 82

A)IMSER HTHR FHI IHISC B)feese
C)IwIST & e D) HTHR HI JHIST
Answer Key : B Your Response : B (Correct)

Question No. 42
The correct sequence of the procedure in the method study is-
A)Maintain — Record — Select — Examine — Develop — B)Select — Record — Examine — Develop — Install —
Install Maintain
C)Select — Examine — Develop — Record — Install — D)Select — Record — Develop — Examine — Install —
Maintain Maintain

RfYr 3regys & FRVOTN FT T FH FT 8?2
A)ARH - RFlS - TlFe - SIATHA - 39019 - Seeld  B)Telae - RPs - T - 3qT - ST - Aeead
C)ToFe - SIATHA - 3qaIT - RPIS - ST - Aeed D)HFC - Rbis - 3T - FIATHA - FALCIST - Hocad

Answer Key : B Your Response : B (Correct)
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Question No. 43
How many solutions does the following system of linear equations have?

X+b6y=-1,x-y=2andx+3y=3
A)No solution B)Infinitely many solutions
C)Unique solution D)None of the options

Y@« gHaor i fArfaf@a yomel ¥ fraer o §2

Xx+5y=-1,x-y=23Rx+3y=3

A)FIS AT T B)3aRfAT ®T & 3 FATYA
C)37e3T FATUTA D)fasedl & & HIg A&
Answer Key : C Your Response : A (Wrong)

Question No. 44
AD.C. welding set-up is said to have straight polarity, when-
A)Work is connected to the positive terminal and the B)AIl of the options
electrode holder to the negative terminal
C)Work is connected to the negative terminal and the D)Work is connected to the negative terminal and the
electrode holder is earthed electrode holder to the positive terminal

el Sial ¢ f T D.C. afesar Je-3rm & el gdigar gieh &, fe-

A)FR elcHs® AT @ 3T giaT § 3N Solecis B)fasdhedt & & wsfr
YR HOMcHS ClHeTel & ST &Iel &

C)adl #HUlicH® fAder & 5T gl ¢ 3N Folaeis D)Fd HOMcH® fAdel & ST glar ¢ 3R soecis
URE @ HY fRar S gl YR UellcHs fHAT & 3T 8T &

Answer Key : A Your Response : A (Correct)

Question No. 45
The alloy mainly used for corrosion resistance in stainless steels is-
A)Manganese B)Carbon
C)Chromium D)Silicon

AN Fed # TIRT 9oy & AT J&7 &9 & wgad Rareng = §2

A)HTeireT B)aTelet
Cymifaga D)f&forenia
Answer Key : C Your Response : C (Correct)

Question No. 46
Find the absolute maximum value of a function f(x) = x2 + 4x + 1 on the interval [1, 3].
A)(2, 13) B)(-1,-2)
C)(3, 22) D)(1, 6)

RIS [1, 3] W FaleT f(x) = x2 + 4x + 1 & 7 3fFaA A @ HSC

A)(2, 13) B)(-1, -2)

C)(@3, 22) D)(1, 6)

Answer Key : C Your Response : A (Wrong)
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Question No. 47
From his experiments, Froude concluded that the frictional resistance of a pipe varies approximately with the

of the liquid.
A)Fourth power of velocity B)Cube of velocity
C)Pressure D)Square of velocity
39T TR F, W35 A fAshy Adrer F e asT F avor gfoky R & F Y AT AT ger
gl
A)3er i dtelr eafed B)deT & gl
C)gera D)aeT & gaf
Answer Key : D Your Response : D (Correct)

Question No. 48
Which of the following combines the high efficiency and strength of the square thread with the ease of cutting
and adjustment of the Acme thread?
A)Unified thread B)Buttress thread
C)British standard Whitworth thread D)Knuckle thread

fet & @ #l a1 T 95 F Fea IR ARG H FACT F WY FWERK I35 Hi I qarr AR ama @

SigeT 82

A)TAwTES I3 B)acH 293

C)fsfeer w38 fegeasr o3 D)siher U3

Answer Key : B Your Response : A (Wrong)

Question No. 49
The thermal efficiency of an ideal air standard Otto cycle for a compression ratio of 8.5 will be-
(Assuming the ratio of specific heats of air to be 1.4)
A)77.5% B)25.7%
C)57.5% D)96.8%

8.5 % WIS Ul & AT T IS A AT 3T Wwh F ANT qaTAr AT gEn? (arg Hr AT A
H A1 1.4 AR §O)

A)77.5% B)25.7%
C)57.5% D)96.8%
Answer Key : C Your Response : D (Wrong)

Question No. 50
What is the unique state at which solid, liquid and gaseous phases can all co-exist in equilibrium?
A)Boiling point B)Pour point
C)Critical point D)Triple point

ag FiT A I I & TR 39, e IR AT o1 T Ao H FAFTENA & Fhd 87

A)Faysre foig B)sETd g
C)mifas fig Dyt g
Answer Key : D Your Response : D (Correct)

Question No. 51
Oxidising flame is obtained when-
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A)(Volume of acetylene / Volume of oxygen) is B)(Volume of acetylene / Volume of oxygen) is equal

greater than 1 to1.5

C)(Volume of acetylene / Volume of oxygen) is equal D)(Volume of acetylene / Volume of oxygen) is less
to 1 than 1

i ot a9 woT g § I-

A)(TRART &I Idd / ST & 3add) 1 & B)(vfafees &1 3made / AedieeT &1 3adeT) 1.5 &
e giar &l SRS Il B

C)(viafeeld & aded / 3iferdislel &1 3ade) 1 & D)(ufafeelsd &1 3maaa / 3edles &1 3ade) 1 &
SIS gYem § A I &l

Answer Key : D Your Response : D (Correct)

Question No. 52
A copper rod is stress free at 0 °C between two rigid supports. If its temperature is increased to T °C, what
and how much stress is developed in the rod?
(Young's modulus of aluminium =Y, length of rod = L and coefficient of linear thermal expansion = a)
A)Zero B)Compressive stress equal to YaT
C)Shear stress equal to YaT D)Tensile stress equal to YaT

& d9 H B3, A T IR & g 0 °C W yfaad JFT g g1 A $HF A9AT F T °C dF For B2
ST &, @ o3 F = AR e v {efa & smar 272
(TogifaTs & fAT Ior # AMiw = Y 8, 83 f &68 = L § 3R @ wia Bear &1 qoniw = a 2)

A) T B)YaT & sX1ek §dgeT gfdeer
C)YaT & s} 39&qur gidee D)YaT & SR delel ideer
Answer Key : B Your Response : A (Wrong)

Question No. 53
The control volume in a thermodynamic system refers to the-

A)Specified mass in fluid flow B)Volume enclosed within the boundary of a control
system

C)Mass that moves across the boundary D)Transfer of energy across the boundary

YRISIAIA® Jomel (thermodynamic system) & fAI=0T 31, T HefAd T gl

ARl varg & Afése gegareT B)U& fAIF0T JuTell I HAT & IR Heldel AT

C)HHAT & aRT 3R gAd gGoddlleT D)HIAT & IR Foll I TUTATROT

Answer Key : B Your Response : C (Wrong)

Question No. 54
Which of the following statements is TRUE about the pitot tube?
A)lt is a straight tube with a short converging part, B)It is made up of a tapered tube and a float inside it
throat and diverging part
C)lt consists of a tube bent at right angles D)A thin metal sheet, having a square edged, a sharp
edged or round edged circular hole

el g & aR & 3 F FT O FUT T 82
A)Tg TH el Fo § 9w v sl AAAR #ET, B)IE T ¢US @ 3R 3Ed X TH Folle § &
ol 3R 3ErY T @ar B g Bl
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C)sﬂﬁmwwaﬁgéwmﬁa‘cﬁ%l D)Ush gdell g Hr ex, fSHH v AR fhanT, wh
TSN YR AT e YR Tl JedHR G QT &1
Answer Key : C Your Response : B (Wrong)

Question No. 55
Davis steering gear is different from Ackermann steering gear because of the presence of-
A)Turning pairs B)Rolling pairs
C)Sliding pairs D)Higher pairs

3T ERe TRR fFadr 39U & FROT Tl ER—IRT R @ e &

AT g7a B)iferer oo
C)rasfsa o D)eR gaH
Answer Key : C Your Response : C (Correct)

Question No. 56
If the centre distance of mating gears having involute teeth is increased, then the pressure angle-
A)lncreases B)Remains unchanged
C)Decreases D)AII of the options

I siqdfaa g arer Afder A & Fg gy w1 & Sehr 8, O ga1@ FHIor-

A)FE T F B)3raRafdd w&ar &
C)uc ST gl D)fasredr & & Tefr
Answer Key : A Your Response : D (Wrong)

Question No. 57
Which of the following generally does NOT make use of lead?
A)Batteries B)Solder
C)Ammunition D)GI sheet

ot & & @l @r 3 dk W AT Fr 39T FAE FAr 8§72

A)deRat B)®IesT
C)INATIEG D)GI efic
Answer Key : D Your Response : D (Correct)

Question No. 58

A Venturimeter is based on the principle of equation.

A)Pascal's B)Bernoulli's

C)Froude's D)Laplace's

uE JgdeieT FHEOT F RAgia | 3maRa §

A)IIERS & B)sRetell &

C)wIs & D)dTcard &

Answer Key : B Your Response : B (Correct)

Question No. 59
The tractive effort of an automobile is the force required to move the-
A)Steering wheel B)Wheels on the road
C)Gears D)Flywheel
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TS RS & SfFed Tag F TEIART A & AT 3ags s gl
A)EEIRIT egret B)#s® WX ufgd

C) s D)welT$cgrer

Answer Key : B Your Response : B (Correct)

Question No. 60
The angular movement about the axis of the robotic arm such as when turning a door knob clockwise or anti-
clockwise is known as-
A)Roll B)Pitch
C)Slide D)Yaw

aifes 3t f g & aN F FohT afd F& F RES F Ald F Flwase I Wr-Falnags d A A

e §1 & =T S 82

A)TreT B)f=

C)¥elIgs (HrHehl=) D)Ia

Answer Key : A Your Response : A (Correct)

Question No. 61
Generally, in a reverted gear train-
A)All the gears are coaxial B)None of the options

C)The first and last gears are coaxial D)None of the gears are coaxial

A, Th Raés AR &7 # -

A)Ter e gamefr g g1 B)fasedl & & IS AgT
C)ueer 3R Nl fR wamef g & D)#Is &t R wemafr wdf & gl
Answer Key : C Your Response : C (Correct)

Question No. 62
The main function of flux coating in SMAW is to protect the molten metal from contamination from the
atmosphere by forming a/an-

A)Weld bead B)Arc

C)Cavity D)Shielding gas

SMAW # v Fiféa &1 AT F4 Ruel §8 a1 F & FATT IR0 & HGYOT § &l ¢l
A)des &3 B)31T&

C)&fadr D)9RR&ToT I

Answer Key : D Your Response : D (Correct)

Question No. 63
A bag contains 3 blue, 2 green and 5 red balls. If four balls are picked at random, then what is the probability
that two are green and two are blue?
A)1/2 B)3/5
C)1/18 D)1/70

TF dr & 3 &fel, 2 gl 3R 5 e 9 € I IR i F IrToRr T A AFET ST g, A ar F @ AR ar
& o @ Fr F=ar wRdwar &2

A)1/2 B)3/5

C)1/18 D)1/70
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Answer Key : D Your Response : B (Wrong)

Question No. 64

The velocity is directed along the rake surface of the cutting tool.

A)Shear B)Cutting

C)AII of the options D)Chip flow

FIEsT & IYFUT A & Tag & AY-A1T 3 #r AR T e &
AR B) &It

C)faseul & & Tefr D)9 yarg

Answer Key : D Your Response : C (Wrong)

Question No. 65
In a workshop, an engine drives a shaft by a belt. The diameters of the engine pulley and the shaft pulley are
500 mm and 250 mm, respectively. Another pulley of a 700 mm diameter on the same shaft drives a pulley
280 mm in diameter of the follower. If the engine runs at 180 revolutions per minute, then find the speed of the

follower.
A)920 rpm B)860 rpm
C)900 rpm D)840 rpm

T&h gHAT H, THh Solel U ATYC B T Sec F Toldl gl ool oREr 3R e @&t & a9 HAw: 500 A
3R 250 fAel &1 3¢ e WX 700 R sarE A U AR @ IRl & ogr 7 280 AT i w@r g
g1 Ifg goteT 180 e wfd Aete it aIfd @ erar &, A 3gemedr i aifa A1q AfSwl

A)920 rpm B)860 rpm
C)900 rpm D)840 rpm
Answer Key : C Your Response : A (Wrong)

Question No. 66
Which of the following tools is used for straight line cutting of sheet metal?
A)File B)Punch
C)Stake D)Snip

e Aed i Ve aEd Fier F v RAafaf@a F F FH 3UFHoT H1 39Aker BFar sar &2

A)BTSel B)a=r
C)&e® D)f&Ta
Answer Key : D Your Response : B (Wrong)

Question No. 67
Balancing of grinding wheels is done to-
A)All of the options B)Avoid undue wear in machine parts
C)Prevent vibration D)Obtain good surface finish

¥ fow aEfEer few @ dgfaa fRar s )

A)faweat & & Tl B)#HM & Yot # i o @ ae
C)&YsT &I IJehot D)quTd: 318! Hg 9o &t
Answer Key : A Your Response : A (Correct)

Question No. 68
For a projectile thrown vertically up, in the absence of air resistance-
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A)The time of descent is greater than the time of B)The time of ascent is greater than the time of

ascent descent
C)The time of flight is twice the time of descent D)Maximum height equals the horizontal range

Ay gieRy i HERAfa #, dead § F IR Hd 0 gaT & foe-
A)ERIUT FI THY, IRIEOT & TAT T 30 giar g1 B)3IRIGUT & T, HARIgUT & AT T 3T gidT ¢l
C)3RIBUT & FHY, HaAUGUT & FHIA HT ST gial &1 D)3if¥shcsr I aifdst daAr & s gl B

Answer Key : C Your Response : A (Wrong)

Question No. 69
Micro-motion study is the-
A)Study of work flow without referring to aspects of B)Analysis of the man-work method by using a motion
time picture camera with a timing device in the field of
view

C)Measuring of time required for completion of the D)ldentification of suitable elements of work which can

work manually using a timing device be clearly recognised

FEH A AT AT §?

A)THT & YgI3il @ oo@ fhU e &1 yarg &1 B)ewa & &F & e Basd & @y Al Uer
3T I BT YT Feh ATT-HT Tgiad T faervor

C)ersfHer fSargd &1 3uer F¥eh Aol ®T & HH D)dR & 3ugad dedl H Ugdll foleg TS &7 &
QT A & AU 3HTaRTs TAT FHT AT TgATeT ST Hehell &

Answer Key : B Your Response : B (Correct)

Question No. 70
The length of the arc of contact is given by-
A)Arc of approach / 2(Arc of recess) B)Arc of approach / Arc of recess
C)Arc of approach x Arc of recess D)Arc of approach + Arc of recess

TUF AT (3h) N aTs fhush @R T Siar #7

A)ATF 3T THE / 2(3 36 RE9) B)3Te 3% TY / 3 36 REd
C)3T% 31T TWIE x 3% 31 RAw D)3 3% o + 31m% 3% Rag
Answer Key : D Your Response : B (Wrong)

Question No. 71
A dynamometer is a device used for the measurement of the-

A)Chip thickness ratio B)Force during metal cutting
C)Wear of the cutting tool D)Deflection of the cutting tool
T SHAAIAICT T 3UR0T § oI 39T A & AT BFAr Srar g
AT A @ 3rqara B)uTq #Teat & NI el
C)&IesT & 390l & o D)&Icet & 39H0T & faargor
Answer Key : B Your Response : B (Correct)

Question No. 72
In thin cylinders, the formula for maximum shear stress is given by-
(where p is the internal pressure of fluid, d is the internal diameter of the cylinder, and t is the thickness of the
cylinder)
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A)pd/t B)pd/4t
C)pd/8t D)pd/2t

g el #, 3ifUewaH 3aw9er Sfaee F g fhad q@nr far T 2
(et p, &a & AT cara &, d, st & aks = &, 3R 1, Soa A Aes ¥)

A)pd/t B)pd/4t
C)pd/8t D)pd/2t
Answer Key : C Your Response : C (Correct)

Question No. 73
In terms of Poisson's ratio (u), the ratio of Young's Modulus (E) to shear Modulus (G) of elastic materials is-
A)(172)(1 - p) B)2(1 - )
C)(1/2)(1 + ) D)2(1 + u)

carEl A (1) % Heed #, earey et & I A (E) ¥ IIEIOT A (G) F A T §?

A)(172)( - ) B)2(1 - p)
C)(172)(1 + ) D)2(1 + )
Answer Key : D Your Response : D (Correct)

Question No. 74
Find the modulus of elasticity for a rod, which tapers uniformly from a 30 mm to a 15 mm diameter in a length
of 350 mm. The rod is subjected to an axial load of 5.5 kN and the extension of the rod is 0.025 mm.
A)217865 N/mm? B)2178.65 N/mm?
C)21.7865 N/mm? D)217.865 N/mm?

T$ O3 & AU YA AN AT Hifow, st 350 Fer & a5 7 30 AT & 15 Bl =9 o ga7@= &9
¥ gderm giar &1 &5 5.5 kN & 3T 9R & 31T & 3 o3 &1 R/ear 0.025 &+ §1

A)217865 N/fA#H2 B)2178.65 N/f&A#H2
C)21.7865 N/f&#2 D)217.865 N/f&AH2
Answer Key : A Your Response : A (Correct)

uestion No. 75

In a sine bar, the height of the slip gauge block is found by multiplying the __ of the desired angle and the
length of the sine bar.

A)Cosine B)Cot

C)Sine D)Tan

T TS aR #, o A said $Hr Fa15, qifda Hor & 3R AT IR A S FTAOT FH G AT

gl

A)FRTraTS B)aic

C)arssT Dy

Answer Key : C Your Response : C (Correct)

Question No. 76
When absorptivity (a) = 1, reflectivity (p) = 0 and transmittivity (1) = 0, then the body is said to be a/an-
A)Opaque body B)White body
C)Grey body D)Black body
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S @AYHAT (a) = 1, REdHhdT (p) = 0 3R FRoNFar (1) = 0 &, ar [z = a7 Far AT §?

A)3Reeft s B)ead Tz
C)ar [Us D)ol Ug
Answer Key : D Your Response : D (Correct)

Question No. 77
If all of the relative motions of rigid bodies are in one plane or in parallel planes, then the mechanism is
specifically called-
A)Spatial mechanism B)Planar mechanism
C)Simple mechanism D)Compound mechanism

Ife T Must fr T 3mfAF afaal v g & & ar gAaw gt & &, O 39 AFFsH # Ry &7 F w2

FgT ST &7

A)TuTfae HabfasH B)Telelk Hehfolod

C)&cl AhfaloH D)&#Fa13s HohfoloA

Answer Key : B Your Response : C (Wrong)

Question No. 78
Poisson's ratio of rubber is around-

A)0.3 B)0.5

C)0.2 D)0.1

T&R T ATl e[ eTsTaT g &

A)0.3 B)0.5

C)0.2 D)0.1

Answer Key : B Your Response : B (Correct)

Question No. 79
The Prandtl number expresses the ratio of-
A)Mass diffusivity to momentum diffusivity B)Momentum diffusivity to thermal diffusivity
C)Thermal diffusivity to momentum diffusivity D)Mass diffusivity to thermal diffusivity

yicel HEAT W e[ FT STFA Fcl 87

A)geaArsT faaToreiierdr & waer faazorefierdr B)#der fa@Roreierar & arda faerorsierar
Cyardra fawrorefierar & aer faerorefadr D)gegAT faarorelierdar & ardir faaoreferar
Answer Key : B Your Response : B (Correct)

Question No. 80
The unit of work in the S.I system, the Joule, is equivalent to-
A)Nm-2 B)Nm2s-"
C)N/s D)Nm

S.| yomelr F F F IfAe, T, FEH FAGeT &7

A)Nm2 B)Nm2s-1
C)N/s D)Nm
Answer Key : D Your Response : D (Correct)

Question No. 81
Which of the following metals has the highest melting point?
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A)Carbon steel B)Brass
C)Copper D)Aluminium

fafaf@a # & fra arq & soei qe@ M8 giar 82

A)FEa T B)drder
C)afar D)¥eg#feras
Answer Key : A Your Response : C (Wrong)

Question No. 82
The ratio of inertia force to viscous force is called the-

A)Prandtl number B)Reynolds number

C)Biot number D)Grashof number

T3 g AR W qF F e[ H gl STl &

A)Veedel HEdT B)¥eilesd H&AT

C)srre TE&Eam D)aImeiis AT

Answer Key : B Your Response : B (Correct)

Question No. 83
The rotational tendency of a force is called the-

A)Reaction B)Centroid

C)Moment D)Shear force

T s S guil ygfed R Fgare 82

A)gfafsar B)dgiss

C)Ae D)ahdie seT

Answer Key : C Your Response : C (Correct)

Question No. 84
The annual consumption of an item is 20000 units. Ordering cost per order = Rs.100. Carrying cost per unit
per year = Rs.0.25. Find the ordering cost per year, if EOQ is ordered every time.
A)Rs.300 B)Rs.350
C)Rs.500 D)Rs.600

el awg $r o€+ @ua 20000 FfAe &1 i ST F1 3R AW = .100 T Tl FA HF el i a§
g gfAe = £.0.25 &, o 93F IR EOQ #r I &t W ufey af merrer ot . gem?

A)%.300 B)%.350
C)%.500 D)%.600
Answer Key : C Your Response : A (Wrong)

Question No. 85
The mean effective pressure of an IC engine is the ratio of-
A)Work performed in a complete engine cycle to B)Engine power to engine speed
engine (cylinder) displacement
C)Engine (cylinder) displacement to work performed D)Engine speed to engine power
in a complete engine cycle

T IC SSieT T ATET YAET gad T U gl B
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A)SsleT (FeisY) & faeamasl & T quT Saiel sh H B)Sofel Ul & Sofel T afcy

fpT v

C)ush qul §oief @sh H U 90 & & goief ([AelsY) D)goted & 9 & Fofel Urax
& faeurae

Answer Key : A Your Response : A (Correct)

Question No. 86
The atomic packing factor for FCC is-

A)0.74 B)0.52

C)1 D)0.68

FCC & faw wamy AT e gl

A)0.74 B)0.52

C)1 D)0.68

Answer Key : A Your Response : A (Correct)

Question No. 87

The standard tolerance unit (in mierons) for IT grade 5 is given by-
(where, D is the geometric mean diameter in mm)

A) B)
0.45(4D)+0.001D 0.45(D)+0.01D
C) D)
0.45(3/D)+0.01D 0.45(3D)+0.001D

IT s 5 5 forg =< et Iwe (Arewm #) e e 9 7€ 27
(=t, D ot & wertfareyer wres =1y 2

A) B)

0.45(4D)+0.001D 0.45(D)+0.01D
C) D)

0.45(3D)+0.01D 0.45(3D)+0.001D
Answer Key : D Your Response : A (Wrong)

Question No. 88
Fin efficiency refers to the ratio of the-
A)Heat transfer rate in presence of a fin to the heat B)Maximum heat transfer from a fin surface when it
transfer rate without the fin was maintained at the base temperature to the
actual heat transfer from the fin
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C)Heat transfer rate in absence of the fin to the heat D)Actual heat flow of the fin to that which would be

transfer rate in the presence of the fin obtained with a fin of constant temperature uniformly

equal to the base surface temperature

freT qotar e o F G 32
AT T 3UTATT & FSAT JHROT F T T T & B)TH el AT Tdg ¥ fhdd FSAT gTATROT o9 3
YT F©AT 37AROT X MR AT W el & arEdide FSAT §EdlaRoT H
§ATT @ AT §
C)fthet 1 3(ufUTT & FSAT IFROT T e & et & D)ot & aredides AT Yag & & fb dA@= &9 @
sufeafa & FsAr 37aRor $r &3 3MUR Tdg & dI9AT & s =W d9AT & el
& Gy greg fRar Se
Answer Key : D Your Response : A (Wrong)

Question No. 89
State which of the following statements is TRUE.
A)A microcontroller does not have memory or I/O but B)A microcontroller is the one that acts as the heart of
consists of only a CPU a computer system
C)A microprocessor is one in which memory and I/O D)Microprocessors are not used in computers
output components are connected externally

gdi & PR & F F9 a1 Fua T3 B
A)TF ATSHIRCIeR #F AA a1 /0 7E giar § AfFT B)US ASHIgIeoR a8 § o FegeX fved & e (318)

sgH Fdel Ush CPU giar &l F & H HFT FT B

C)Us ASHMAT dg ¢ forgd AR 3N /O 33eYe D)FTYeX A ABHIINET HT 3UAT g1 fohar Sl B
e aEd 7 ¥ 9 @ ¥

Answer Key : C Your Response : B (Wrong)

Question No. 90
Determine the dryness fraction of steam, if 0.7 kg of water is present in suspension with 85 kg of dry steam.
A)0.9918 B)3.918
C)9.918 D)0.0918

I 85 faram oF 1T & WY Foleet (WEIRE) # 0.7 fram S 3uRYa § dF AT & ewaT 30 A

ffaw]

A)0.9918 B)3.918

C)9.918 D)0.0918

Answer Key : A Your Response : A (Correct)

Question No. 91
The mean of five numbers is 30. If one number is excluded, then their mean becomes 28. Find the excluded

number.
A)38 B)28
C)35 D)30

uig HEaT3t # At 30 g I v "EAwr H ger A Sw, o 3Ar Aty 28 @ Sar g e 1§ dEr
AT AT

A)38 B)28

C)35 D)30
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Answer Key : A Your Response : A (Correct)

Question No. 92

Find the order and degree of the differential equation

;L ] ) 6
d}+8rh]+ﬁhmf

F dx
A) B)
(3.2 (4,6)
C) D)
(6,1) (4,1)
d*y dy\° .
Tehol HHIHIOT d—1+8 d +5y=¢" = &7/ AT o (7)) 7
A ! i
A) B)
(3.2) (4,6)
C) D)
(6,1) (4,1)
Answer Key : D Your Response : B (Wrong)

Question No. 93

Find the Eigen values for the following 2x2 matrix.

o[t

A) B)

Z2and5 4and5b

C) D)

land9 Z2and 7
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fmr=afaf@a 2x2 #ftaw F T 3= (eigen) ATF AT FYI

]

A) B)
23k 5 43T 5
C) D)
139 237
Answer Key : D Your Response : D (Correct)

Question No. 94
The idler pulley is used for-

A)Changing the speed of the driven shaft B)Running during idling periods only
C)lIncreasing the angle of contact D)Stopping motion frequently
HTBSe’ TEY (idler pulley) FT 39T & fow R Srar &

A)aanfad e i afa F gRade B)dhaer fAfSha 3rafer & ke Tt
C)maﬁwﬁaﬁ: D)aR aR afd & Jehed

Answer Key : C Your Response : B (Wrong)

Question No. 95
The Stefan-Boltzmann law states that the radiant heat energy emitted from a black body per unit area per unit
time-
A)Varies inversely with the absolute temperature B)Varies directly with the fourth power of the absolute
temperature
C)Varies inversely with the third power of the D)Varies inversely with the square of the absolute

absolute temperature temperature

I dleatdls #1 f@aH Faar ¢ & & Fer Qs @ 9fq gfae &7 ufa gfae aavw & e arer fafsor

FSHT Foll T g 87

A)fEROeT AIATE & HTY AT BT Bl B)faRder drad & Tt evar & Ty WY seoldr Bl

C)feR9eT YA &I E &THT & AT FoshARIA D)feRIeT dva= & a91 & A1 GohAEUIC giell &
BT &l

Answer Key : B Your Response : B (Correct)

Question No. 96
Which of the following uses a non-consumable type of electrode?
A)Gas metal arc welding B)Gas tungsten arc welding
C)Flux-cored arc welding D)Shielded metal arc welding

fAfaf@d # @ #id ar N3THST TFR & SAFS H 3YAT T 82
AT A 3T dfesaT B3 ¢awesT & afesa
C)Feard-hIRE 3T dfesar D)RIe33 Ao 3 afegar
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Answer Key : B Your Response : D (Wrong)

Question No. 97
In drop forging, forging is done by-
A)Applying continuous pressure with a compression B)Placing heated metal bars between two cylindrical
die rolls, which rotate and apply progressive pressure
C)Dropping a hammer onto the metal D)Dropping the workpiece at high velocity

sfr BT &, Pk B garT 9 o 82

A)FFI 318 & HY feR gara o] e & B)a deelhR el & oI a1 arg & 8 W Y, N
gAD 3R Gl e o) AR €

C)urg W §e F AR D)a&de & 3od a7 & R &

Answer Key : C Your Response : C (Correct)

Question No. 98
The line of action of the buoyant force always acts through the centroid of the-

A)Displaced volume of the fluid B)Volume of the floating body
C)Volume of the fluid vertically above the body D)Submerged body

3cCaTash I T TRAT 3@T gaRm & Fegd @ g FI FA ol

A)TReT & faeamiad 3ads B)TRa gu fifs &1 3mader
C)fz & FW dgad R Terd & AT D)stere g

Answer Key : A Your Response : D (Wrong)

Question No. 99
The mallet head is made of-

A)Brass B)Cast iron

C)Lead D)Wood

Ao §3 fFad oo giar 82

A)STE  (drcTer) B)@oraTl olgT (e 3TA)
C)els (¥am) D)ershsr

Answer Key : D Your Response : B (Wrong)

Question No. 100
If E = Mean kinetic energy of the flywheel, C = Coefficient of fluctuation of speed and AE = Maximum
fluctuation of energy, then-
AAE=E/C B)AE =E?x C
C)AE=E xC D)AE =2E x C

I E = FoSegle 1 A AT Foft, C = A F 3aAR-=eE T Uik IR AE = Far 1 HfUHaA 3aR-

%19 &, -

AAE =E/C B)AE = E2 x C

C)AE = E x C D)AE = 2E x C

Answer Key : D Your Response : D (Correct)

Question No. 101
An article costing Rs.800 is marked 45% above the cost price. What is the marked price?
A)Rs.1160 B)Rs.1180
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C)Rs.1120 D)Rs.1140

frelr £.800 e aTelr G F IWF ARIT Hed F 45% & IUF HeT W ik frar arar 81 3ifwa g A

£y

A)%.1160 B)%.1180

C)%.1120 D)%.1140

Answer Key : A Your Response : A (Correct)

Question No. 102
Read the following question and decide which of the statements is sufficient to answer the question.

Question:
What was the grand total of Team A in today's match?

Statements:

I. Raman correctly remembers that team A scored a grand total of above 46 and below 55.

Il. Mohan correctly remembers that team A scored a grand total of above 53 but below 63.

A)Statement Il alone is sufficient while statement | B)Statement | alone is sufficient while statement Il
alone is not sufficient to answer the question alone is not sufficient to answer the question

C)Either statement | or Il is sufficient to answer the D)Both statements | and Il together are sufficient to

question answer the question

farfaf@a wea & o3 3R o o fF g9 & Sla-ar FUa 72T T 3ok & F AT gIieT gl

YR
IS & #T H EFH A F Fo THR e ar?

FY:

|. THOT & 81 & Ie § 6 A A 7 46 @ FW 3R 55 F A 1 FT TR ST ATl

Il. AigeT Sk & I1g & T &F A & 53 § FW oifthed 63 § = 7 Fol FHR s AT|

A)IRA & 3caR ol & foIT 3hel U || ATTd § B)UA FI 3cak &of & Tl 3ichel $YUT | gITeT & Safdh

Stafeh el | 3rhel gATCd & & YT || 3hel gIToT G B

C)UeT & 3caR ol & folT AT @ FUT | AT HUA || D)UT FT 3ccR ¥ & faw gt &y | 3R 1l v arg
T & ER I

Answer Key : D Your Response : D (Correct)

Question No. 103
Simplify: {39 - (19 - 44)} + {4 x 3 - (-4)}
A)-5 B)-8
C)-6 D)-4

TS L {30 - (19 - 44)} + {-4 x 3 - (-4)}

A)-5 B)-8
C)-6 D)-4
Answer Key : B Your Response : D (Wrong)

Question No. 104
Evaluate: 60 - [26 + (30 - 20 + 5)]
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A)39 B)58
C)a7 D)61

Hedida HT: 60 - [26 + (30 - 20 + 5)]

A)59 B)58
C)47 D)61
Answer Key : A Your Response : A (Correct)

Question No. 105
A sum of Rs.2000 invested at the rate of 8.5% Simple Interest per annum for 6 years will yield an interest of-
A)Rs.1275 B)Rs.510
C)Rs.935 D)Rs.1020

P $.2000 & TR & AT 8.5% & IM¥F WURUT AT f & W 6 aut & v [T fFar aar &, ar

farcteTr sarer T gem?

A)T.1275 B)%.510

C)%.935 D)%.1020

Answer Key : D Your Response : D (Correct)

Question No. 106
If 8 = 30°, then what is the value of 3 sin® - 4 sin®8?
A)0 B)1
C)-1 D)1/2

gfe 0 = 30°, &, a 3 sind - 4 sin®0 & AT AT H|

A)O B)1
C)-1 D)1/2
Answer Key : B Your Response : B (Correct)

Question No. 107
Two numbers are less than a third number by 30% and 37%, respectively. By what percent is the second
number less than the first number?
A)10% B)3%
C)7% D)4%

ar HEA¢ Uk A WEAT § HAW: 30% AR 37% & FH ¥ qgeln HEAT A JoA F qud e fhaa wfewra

FH 57

A)10% B)3%

C)7% D)4%

Answer Key : A Your Response : C (Wrong)

Question No. 108
The difference between a two-digit number and the number obtained by reversing its digits is 81. What is the
difference between the two digits of that number?
A)6 B)3
C)4 D)9
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& 3@ fr FS TEAT AR ITF 3P P Ioed W T FEAT & &g T 3R 81 §, df 39T T&AT & oF ar

et & &I @1 HAR FAT g

A)6 B)3

C)4 D)9

Answer Key : D Your Response : A (Wrong)

Question No. 109
Fill in the blank with the most appropriate word which will suit the context of the sentence.

He has always been towards his colleagues.
A)Considerable B)Condemned
C)Considerate D)Conditioned

Fill in the blank with the most appropriate word which will suit the context of the sentence.

He has always been towards his colleagues.

A)Considerable B)Condemned

C)Considerate D)Conditioned

Answer Key : C Your Response : D (Wrong)

Question No. 110
If sin @ = 5/13 and 0 is in the second quadrant, then what is the value of tan 67
A)-13/12 B)-5/12
C)12/13 D)5/12

I sine = 5/13 3R 6 gEY =qfer & §, aF 'tan 0 F AT AT FI

A)-13/12 B)-5/12
C)12/13 D)5/12
Answer Key : B Your Response : A (Wrong)

Question No. 111
Choose the correct synonym of the given word from the options given below.

CONTRITION
A)Remorse B)Remorselessness
C)Arrogance D)Impenitence

Choose the correct synonym of the given word from the options given below.

CONTRITION

A)Remorse B)Remorselessness
C)Arrogance D)Impenitence

Answer Key : A Your Response : A (Correct)

Question No. 112
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In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)

logically.

Statement:
E>C2T>G=Y<U<O

Conclusions:

.LG<E

.0>G

A)Neither conclusion | nor Il follows B)Only conclusion Il follows
C)Both conclusions | and Il follow D)Only conclusion | follows

30 W H, U FUA F 91 ar faswy Ru aw §) 3o s (8h) w9, S arfFe w9 @ weifts s @
ITEOT A &

YT
E>C=2T>G=Y=<U<O

s

. G<E

II.0O>G

A)aT ar fasehy | 3R AT & SRy || 37TER0T aar g1 B)shael sy || 3ERoT YT g
C)ferseny | 3N f¥sehy || 2=l 37TER0T d B D)sharel foisehy | 31TEROT &Ll &
Answer Key : C Your Response : B (Wrong)

Question No. 113
In the following question, the given sentence has four parts marked P, Q, R and S. Choose the part of
sentence with the error and mark as your answer. If there is no error, mark 'No error (S)' as your answer.

He was greeted (P)/ with a valley of (Q)/ questions. (R)/ No error (S)
A)Q B)R
C)S D)P

In the following question, the given sentence has four parts marked P, Q, R and S. Choose the part of
sentence with the error and mark as your answer. If there is no error, mark 'No error (S)' as your
answer.

He was greeted (P)/ with a valley of (Q)/ questions. (R)/ No error (S)

A)Q B)R
C)S D)P
Answer Key : A Your Response : A (Correct)

Question No. 114
Find the ODD one out from the given options.
A)uQwW B)GCI
C)RPN D)LHN
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R 1w Repedt # & AT B G

A)UQW B)GCI

C)RPN D)LHN

Answer Key : C Your Response : C (Correct)

Question No. 115
Read the following question and decide which of the statements is sufficient to answer the question.

Question:
What is the code for 'walks' in a code language?

Statements:

I. In the code language, 'he learns slow' is written as 'ja na le'.

Il. In the code language, 'he walks slow' is written as 'le na to'.

A)Both statements | and 1l together are sufficient to B)Statement | alone is sufficient while statement Il
answer the question alone is not sufficient to answer the question

C)Statement |l alone is sufficient while statement | D)Either statement | or Il is sufficient to answer the
alone is not sufficient to answer the question question

farfaf@a wea #F 93 3R v o F 597 & la-ar Fua 72T FT 3cR & F T gHieT g

96T
Rl e s 7 'walks' & AT Fe F4T gew?

hYe:

|. F€ #TT #, 'he learns slow’ F ‘ja na le' FF for@m T &l

Il. F ST 3 'he walks slow' T le na to' FF forG@r ST gl

A)TT FT 3ccR ot & AT a1t et | 3R 1l T AT B)YA FT 3ccR &oF & [T 3hol $UT | gt § STafh

ER I HUA || 3Hhel GATTT LT &

C)I%T & 3cdl cof & TolU 37chel U || TATCT § D)UT & 3ccR ol & folT A7 ar YT | a1 HUT
Safh HU | el qATTT AET B gAied gl

Answer Key : A Your Response : A (Correct)

Question No. 116
In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
In a T-20 match, the total runs made by a team was 197. Out of these, 143 runs were scored by spinners.

Conclusions:

I. The opening batsmen were spinners.

Il. 15% of the team was composed of spinners.

A)Only conclusion Il follows B)Only conclusion | follows
C)Neither conclusion | nor Il follows D)Both conclusions | and Il follow


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247)

W A F TF FYT F a1 A Fwy e v §) 37 T (W) F#@F g S e w9 & w&ifts w1 @
3TEOT A &

YT
U T-20 A9 #, U OF @RI &I T F & 197 | 597 ¥ 143 I, Rl g@rr a0 717 9|

fas:

|. YT FA T ToolalsT TR

II. &3 &1 15% FEaeRt § &= |

A)dae fAsHy Il 31TEROT T B B)hder f¥sehy | 31TE0T T B

Cyar ar faseny | 3R &7 & frshy 1l 377aRor em 81 D)feisehy | 3R fasehy || et Jrefa]or e g
Answer Key : C Your Response : B (Wrong)

Question No. 117
Find the missing letter in the following series.

N, (...), H,E, B
AKX B)L
C)A D)M

fEfaf@a 4ofr # 3eEfeyd 3R A A

N, (..), H, E, B

A)K B)L

C)A D)M

Answer Key : A Your Response : A (Correct)

Question No. 118
A man rows with the stream at 9 km/h and against the stream at 6.5 km/h. What is his speed in still water?
A)7 km/h B)8 km/h
C)7.5 km/h D)7.75 km/h

HIS e arRT A r A 9 e fr e F 3R grr Hr [QUdT Gr 7 6.5 FAyEer fr T F A
AT §, o R oo & 35 afq A FI

A)7 TRe/Eer B)8 fraf/eer
C)7.5 fordi/ger D)7.75 fera/eer
Answer Key : D Your Response : D (Correct)

Question No. 119
Which of the following will best complete the relationship given below?

NOTE : RSXI:: JRIS : ?
A)VIMP B)NVMW
C)VMWP D)VMXP
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i@ # & @l a1 e QT 7T Her F Fad 30T QU HWM?

NOTE : RSXI :: JRIS : ?

A)VIMP B)NVMW
C)VMWP D)VMXP
Answer Key : B Your Response : B (Correct)

Question No. 120
If the profit percent is numerically equal to the cost price in rupees and the selling price is Rs.39, then what is
the cost price?
A)Rs.30 B)Rs.23
C)Rs.21 D)Rs.25

Ife amst wfoerd Searens ¥ @, T9AT 7 oETd {7 & SR § AR ra 7o ©.39 7, o and {ea = 82

A)%.30 B)%.23
C)%.21 D)%.25
Answer Key : A Your Response : A (Correct)

uestion No. 121
Find the missing number in the following series.

144, 169, 196, (...), 256
A)225 B)214
C)200 D)212

PR Aol & ¥ yeeReya Fear A 7 B
144, 169, 196, (...), 256

A)225 B)214
C)200 D)212
Answer Key : A Your Response : A (Correct)

Question No. 122
The speed of a man in still water is 6 km/h and the speed of a stream is 1.5 km/h. A man rows to a place at a
distance of 45 km and comes back to the starting point. Find the total time taken by him.
A)13 hours B)9 hours
C)24 hours D)16 hours

et R S & v afFa fr afa 6 FFelveer § 3R arr & afa 1.5 BFelveer &1 A afFa 45 By &
3Fd g I Ald § T W ¢ IR GRS &g W amow I S @, A IfFd g@rr fordm s $or wHT AT

Hifare

A)13 =er B)9 er

C)24 wer D)16 ®er

Answer Key : D Your Response : A (Wrong)

Question No. 123
In a queue, Anuja is tenth from the front while Mukesh is twenty-fourth from behind. Mano;j is just in the middle
of the two. If there are 55 persons in the queue, then what position does Manoj occupy from the front?
A)18 B)23
C)21 D)25
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forelr FaR & Iom A FH F ET T W ¢, FefE g sifow w9 @ Sded wue W g AEs Qe &
ALY ¢ MG FaR A Hor 55 =afFd &, o Feller HAA 7 § T § T R/ grem?

A)18 B)23
C)21 D)25
Answer Key : C Your Response : A (Wrong)

Question No. 124
A man said to a woman, "Your mother's husband's sister is my aunt." How is the woman related to the man?
A)Daughter B)Mother
C)Grandmother D)Sister

forelr ameeh & v AT & FeT, "FFER Al & afd B e AN Al g1 ARET F 3T QY F R q6Y §?

A)gHT B)AT
C)arérsir D)agsT
Answer Key : D Your Response : D (Correct)

Question No. 125
Which word will best complete the relationship given below?

Eccrinology : Secretions :: Selenography : ?

A)Crust B)Moon
C)Mantle D)Sun

HleT AT eq AR QT 7T N A TG 30T QW Fm?

ThiAdreT : R ; JaaEmdr ; ?

A)FEC B)deeaAT
C)dtreat D)
Answer Key : B Your Response : B (Correct)

Question No. 126
Of the three numbers, the average of the first and the second is greater than the average of the second and
the third by 15. What is the difference between the first and the third of the three numbers?
A)30 B)45
C)15 D)60

e FEaEt & § geelr IR qEd T FEA FOIMET qEdr IR Al dEwr & dea § 15 A gl oar A
TE3t A ¥ ggell AR Ml dEAr & & F HA 4T gem?

A)30 B)45
C)15 D)60
Answer Key : A Your Response : A (Correct)

Question No. 127
A circus tent is in the form of a cylinder, mounted by a cone. The diameter of the base is 105 m. The height of
the cylinder is 3 m and the slant height of the cone is 53 m. Find the amount of cloth required to make the
tent.
A)8235 m? B)8735 m?
C)7735 m? D)9735 m?


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247)

o aHa #T T AR T A § AR T A5 @RT AreoTied § $HG IUR F AW 105 A gl 9P
do i 5§ 3 M § AR ofF Hr fodw Far$ 53 A &, o arg s & AT 3maRTE F93 Hr AA A

HifaT]

A)8235 2 B)8735 #?

C)7735 #2 D)9735 #i2

Answer Key : D Your Response : B (Wrong)

Question No. 128
Fill in the blank with the most appropriate word which will suit the context of the sentence.

She a brief appearance at the end of the party.
A)Put with B)Put with up
C)Puton to D)Put in

Fill in the blank with the most appropriate word which will suit the context of the sentence.

She a brief appearance at the end of the party.

A)Put with B)Put with up

C)Put on to D)Put in

Answer Key : D Your Response : D (Correct)

Question No. 129
Choose the correct antonym of the given word from the options given below.

REBUKE
A)Appreciate B)Criticize
C)Censure D)Reproach

Choose the correct antonym of the given word from the options given below.

REBUKE

A)Appreciate B)Criticize

C)Censure D)Reproach

Answer Key : A Your Response : D (Wrong)

Question No. 130
Choose the correct synonym of the given word from the options given below.

ENSEMBLE
A)Band B)Solo
C)Single-handed D)Individual

Choose the correct synonym of the given word from the options given below.

ENSEMBLE
A)Band B)Solo
C)Single-handed D)Individual
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Answer Key : A Your Response : A (Correct)

Question No. 131
Choose the correct alternative which will improve the part of the sentence given in quotes.

The rain 'has stop' before we reached the village.

A)Will stop B)Would stopped
C)Would have stop D)Had stopped

Choose the correct alternative which will improve the part of the sentence given in quotes.

The rain 'has stop' before we reached the village.

A)Will stop B)Would stopped
C)Would have stop D)Had stopped
Answer Key : D Your Response : D (Correct)

Question No. 132
One-fourth of a certain journey is covered at the rate of 25 km/h, another one-third at the rate of 30 km/h and
the rest at 50 km/h. Find the average speed for the whole journey.
A)600/53 km/h B)1600/53 km/h
C)1200/53 km/h D)1800/53 km/h

foel TARe ImT 1 1/4 smer 25 fRai/Eer @ &X @ oF fRAr ST 8, g@Y 1/3 ST Hr 30 fhReAvEer #r T &
aF AT SiTar 8 3R AW srer i 50 fRAl/Eer @ aX & 7 fohar St €, o g I @ e =rer AT H

A)600/53 frai/aer B)1600/53 forst/eer
C)1200/53 fera/eaer D)1800/53 farafi/eer
Answer Key : D Your Response : A (Wrong)

Question No. 133
In the following question, the given sentence has four parts marked P, Q, R and S. Choose the part of
sentence with the error and mark as your answer. If there is no error, mark 'No error (S)' as your answer.

No-one but (P)/ he knew who was set (Q)/ the question paper. (R)/ No error (S)
AR B)P
c)Q D)S

In the following question, the given sentence has four parts marked P, Q, R and S. Choose the part of
sentence with the error and mark as your answer. If there is no error, mark 'No error (S)' as your
answer.

No-one but (P)/ he knew who was set (Q)/ the question paper. (R)/ No error (S)

AR B)P
c)Q D)S
Answer Key : C Your Response : D (Wrong)

Question No. 134
Choose from the four options, the word that best substitutes the given phrase.

"Fondness of stealing small articles"
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A)Claustrophile B)Kleptophile
C)Chronomentrophile D)Chromophile

Choose from the four options, the word that best substitutes the given phrase.

"Fondness of stealing small articles"

A)Claustrophile B)Kleptophile
C)Chronomentrophile D)Chromophile
Answer Key : B Your Response : A (Wrong)

Question No. 135
What is the ratio of Simple Interest and Compound Interest on a certain sum at a rate of 8% per annum for 2

years?
A)22: 25 B)22: 26
C)22:29 D)25: 26

e faRaa oY W 8% arffe sare A aX ¥ 2 9§ F wred WURT sarer AR TR sAST F U AT

Hifare

A)22 : 25 B)22 : 26

C)22 : 29 D)25 : 26

Answer Key : D Your Response : D (Correct)

Question No. 136
What percent of pocket money of Rs.40 is spent, if a girl buys stationery for Rs.267?
A)78% B)13%
C)52% D)65%

e S ASH $.26 FT AW FAEN Wedr &, O 3TF .40 & Ulhe Hell T el UfaRId W 81 82

A)78% B)13%
C)52% D)65%
Answer Key : D Your Response : D (Correct)

Question No. 137
Choose the option which best expresses the meaning of the idiom/phrase given below.

"Something bodes well"

A)To be a harbinger of unfavourable results B)To face a problem of unexpected dimensions
C)To meet a man of good manners D)To be a harbinger of favourable results

Choose the option which best expresses the meaning of the idiom/phrase given below.

"Something bodes well"

A)To be a harbinger of unfavourable results B)To face a problem of unexpected dimensions
C)To meet a man of good manners D)To be a harbinger of favourable results
Answer Key : D Your Response : A (Wrong)

uestion No. 138
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Read the following information carefully and answer the question given below.

Seven persons—N, S, F, R, D, B and V are sitting on a bench in a church, facing south. Each of them has a
different profession— Chef, Doctor, Writer, Artist, Teacher, Singer and Pilot.

F sits second to the right of V. B is not a Writer. There is one person sitting between F and R. N is an
immediate neighbour of D, who sits at an extreme end. The one who is a Doctor sits third to the left of S, who
is a Singer. V sits third from the left end. The one who is a Teacher sits at an extreme end and an immediate
neighbour of S. The one who is a Pilot sits second to the left of R. N is neither a Chef nor a Writer.

What is the profession of the one who sits in the middle of the row?
A)Pilot B)Doctor
C)Writer D)Chef

frrfaf@a ey A eaegEs afew AR AT Re v wea & 3w dfaw)

o safFd—N, S, F, R, D, B 3R V f5dll = & vs S W 0T i 3R q@ W 5 & 390 § 933F #
TF 37T UM §—AF, Siae, s, FaaR, e, Maw 3R q™ac)

F, V& a§ 3R & g@y T« W 337 1 B o0& o781 §1 F 3R R & <iw vk safad dor g1 3ifaw sk w dar
N, D & fAFead TSR &1 9 F sl cafdd Mg S & 1% 3R § Y T W dor &1 9 & Raww v
AT o & a5 I A T T W o7 § 3R I & dryeie S F AFeaA WY E, TR F € W A
GO T W AT 81 N o o 9% ¢ 3R o & aEF g

3Fd Uied & AT H 35 afFd &1 92m F=1 gen?

(Y]

A)IrIec B)siaeX
C)er@® D)%
Answer Key : D Your Response : A (Wrong)

Question No. 139
Carl walks 8 km towards west. Then he turns to his right and walks a further 6 km. How far is he exactly from
the starting point?
A)9.5 km B)9 km
C)10 km D)7 km

Frel qREA Y IR 8 el Terar ¥ R a8 v & 3R Hzar § 3R 6 Rl IR Terar B 3@, @@ e

e g ¥ Rl g W &2

A)9.5 el B)9 faraf

C)10 foreT D)7 freY

Answer Key : C Your Response : C (Correct)

Question No. 140
In a certain code language, 'CHARCOAL' is coded as 45164913 and 'MORALE' is coded as 296137. How will
'CHOLERA!' be coded in that language?
A)4597361 B)4593671
C)4593716 D)4593761

el fAfRae e s 3, 'CHARCOAL' # 45164913 3R 'MORALE' &Y 296137 & &9 # ®ifdd fFm e &,
ar 3% FT AW F 'CHOLERA' &I fory R #ifsa famar smeem?
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A)4597361 B)4593671
C)4593716 D)4593761
Answer Key : D Your Response : D (Correct)

Question No. 141
In a certain code, 256 means 'you are good', 637 means 'we are bad', and 358 means 'good and bad'. Which
of the following represents 'and' in the code?
A)5 B)2
C)3 D)8

foredy ARaa #1s & 256 & 31 'you are good' &, 637 & 31 'we are bad' &, 3 358 & 31 'good and
bad' §,ar Refaf@d & q -9 A3 'and' F YERT F=ar &2

A)5 B)2
C)3 D)8
Answer Key : D Your Response : D (Correct)

Question No. 142
In an alloy of German silver, the ratio of copper to zinc was 17 : 7 while that of nickel to zinc was 4 : 3. Find
the ratio of copper to zinc to nickel in the alloy.
A)17:28:3 B)51:21:28
C)68 : 28 : 21 D)17:21:4

e RAeaw i el e arg & AR 3R S 1 Heqara 17 : 7 o1, SefF e 3R OF #1 3eqara 4 : 3
a1, o By g F FR IR Giw g @dha F1 3 A fifsw)

A)17 : 28 : 3 B)51 : 21 : 28
C)68 : 28 : 21 D)17 : 21 : 4
Answer Key : B Your Response : D (Wrong)

Question No. 143
Choose the correct antonym of the given word from the options given below.

UNSCRUPULOUS
A)Easy-going B)Honourable
C)Carefree D)Careless

Choose the correct antonym of the given word from the options given below.

UNSCRUPULOUS

A)Easy-going B)Honourable

C)Carefree D)Careless

Answer Key : B Your Response : C (Wrong)

Question No. 144
The average age of 36 students in a group is 14 years. When the teacher's age is included, the average
increases by one. Find the age of the teacher.
A)31 years B)57 years
C)51 years D)36 years


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247)

frdr wog & 36 onEl #r A I 14 ¥ g1 o9 Rerd A 3y s7A s & A B, O T vE & 99
ST 1 Rateh v 3y AT ffSe

A)31 a¥ B)57 a¥
C)51 a¥ D)36 a¥
Answer Key : C Your Response : C (Correct)

Question No. 145
P works thrice as fast as R. R works half as much as Q. If all three work together, then they can finish a job in
5 days. In how many days can Q alone finish the job?
A)30 B)12
C)24 D)15

P, R &I ol & ofieT a1 oot @ FF Far &1 Q & oot 7 R €Y (GFTTT 3em) F Fahr ¢ IS et v
Y AT F X §, o 3Fd FF F 5 ReAl §F QU & T §1 39 FA F Q ¥ e et F @ =

Hehell 82

A)30 B)12

C)24 D)15

Answer Key : D Your Response : B (Wrong)

Question No. 146
Choose the option which best expresses the meaning of the idiom/phrase given below.

"Do somebody a good turn"

A)To survive in isolation B)To hurt someone intentionally
C)To do something that helps somebody D)To make things difficult

Choose the option which best expresses the meaning of the idiom/phrase given below.

"Do somebody a good turn"

A)To survive in isolation B)To hurt someone intentionally
C)To do something that helps somebody D)To make things difficult
Answer Key : C Your Response : A (Wrong)

Question No. 147
A father has a 12-year old son. He was thrice his son's present age when the son was born. How old is the
father now?
A)46 years B)40 years
C)48 years D)60 years

et R &1 o g7 12 af &7 §) GF F SR F ¥AT Nar v 3y, 7@ goAT 3G fr AT e o, ar

RiaT $r oA 3R] Rrcel gl

A)46 T B)40 a¥

C)48 a¥ D)60 a¥

Answer Key : C Your Response : C (Correct)

Question No. 148
Identify the CORRECTLY spelt word.
A)Catachresis B)Catchphraze
C)Catapalt D)Catharsys


https://applink.adda247.com/d/XhqWf9lSap
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Identify the CORRECTLY spelt word.

A)Catachresis B)Catchphraze
C)Catapalt D)Catharsys
Answer Key : A Your Response : D (Wrong)

Question No. 149
Choose from the four options, the word that best substitutes the given phrase.

"Individuals belonging to the same period"

A)Contemporaries B)Temporary
C)Settled D)Permanent

Choose from the four options, the word that best substitutes the given phrase.

"Individuals belonging to the same period"

A)Contemporaries B)Temporary
C)Settled D)Permanent
Answer Key : A Your Response : D (Wrong)

Question No. 150
In the following question, there are six parts marked S1, S6, P, Q, R and S. The positions of S1 and S6 are
fixed. Some parts of the sentence have been jumbled up. Rearrange these parts and choose the proper
sequence from the given options.

(S1) While most privileges

(P) Are the right of a select few

(Q) Government must enable

(R) There are a few

(S) Privileges that the

(S6) for every citizen to access, namely, healthcare, education, sanitation and clean water.
A)QPRS B)SRPQ

C)PQSR D)PRSQ

In the following question, there are six parts marked S1, S6, P, Q, R and S. The positions of S1 and
S6 are fixed. Some parts of the sentence have been jumbled up. Rearrange these parts and choose the
proper sequence from the given options.

(S1) While most privileges

(P) Are the right of a select few

(Q) Government must enable

(R) There are a few

(S) Privileges that the

(S6) for every citizen to access, namely, healthcare, education, sanitation and clean water.
A)QPRS B)SRPQ

C)PQSR D)PRSQ

Answer Key : D Your Response : D (Correct)
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